Joint likeli hood
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Bayesian Network: Represents condittonad independenues .
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Jownt disripution:
P(B.E,A,3.1) = P(g) P() P(AIB,B) P(T1A) P(MiA)

ex) P(®=F €-FAT,T-TM=T) = (0499) (o0aqs) (-00(.70)(-70)

P(A-T) = P(A=T,B=TE=T) +P(A-T, b T,E<F) +P (A<T,B:F, E=T)
+ P(A:T, B:F( E'_'F)

= P(A=T |B-T&-T)P(B=TE-T) + P(A=T| B-T,€=F) P(B=T,E=F)
+ P(A-T|B-F, B=DP(B=F,&=T)+ P(A=T|B=F,T=F) P(B=F,5=F)
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Can Substitute P(B,E) = P(B)P(B) obove.

p(A: 0= V( A-T IB’T, E=T)?(6‘T) P (E‘T) + P(_A;Tl B=T,E‘F) P(B‘T) P(‘E;‘F)
+ P(A-T|8=F, B=T)P(B=F)P(E-=T)* P(A-T|B=F,T-F) P(B=F)P(F=F)



